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The z - transform

The z - transform will help us deal with discrete-time (digital) signals just like the Laplace transform helped us with
continuous-time signals. So let's start making a table.

Z - transform: F(z2)
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Any finite-length signal can be made of delayed impulses,
so all its poles are at the origin. ECE 3510 Discrete pl



Power Series (Needed to solve the next few cases)
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Sinusoidals

Complex conjugate Pole
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Laplace Transform (Unilateral)
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Aliasing 4 Alias

Close to the Correct freq.
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] ]
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unless specified otherwise

Far from the
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Linearity c-f(k) + d-g(k) c-F(z) + d-G(z)
Right shift (Delay) f(k— m)-u(k— m) i-F(z) = z™F(z)
m>0 zZ"
f(k— 1) zYF(2) + (- 1)
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m
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2=
Final value f(o0) lim (z- 1)-F(z)(all poles of (z-1)F(2)
z—=1 inside unit circle)
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